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Exercise 83 707> 4mnhtf-b

1.0~@®IcY Tz 5

DO Ry Hr—Ix
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@ main
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3.

public class Ex3 3 {

public static void main(String(] args) {
System. out.print(1000);
System.out.printIn(’EH£”);
System. out.print(1010);
System. out.printIn(” &I XER”);
System.out.print(1020);
System.out.print In("#AR");



Exercise @4 T—49 %

int
long
byte
double
char

boolean

A M m O N W > B

String

3. B '¥uee41l' AELW
G "ABC" PYELW
H "" IZEXFYr L TOKED, ""EFEARW



Exercise 05 ZEHEE L ZEBNEVA

1.
C LB T
D #IEAL W
H SEEARW
I "EEARW
2.
(1) int a;

(2) double b;
(3) char c;
(4) String d;

(5) boolean e;

3.

public class Ex5 3 {
public static void main(String(] args) {
double a, b, c, ans;

a=1.5;
b =28.1;
c=2.2,

ans = a t+b + c;
System.out.printIn(ans);

4. C
int &Y long DAHEY MEHARKIVOTRANTER W



Exercise 06 #HHiY TSI

1.
(1)52  (2)A9 (3)EB  (4)29 (5)C3

2.

public class Ex6_2 {

public static void main(String[] args) {
System. out.print (1000 + ¥t BZ");
System.out.printIn(1010 + ¥t &JI| KER”);
System. out.printIn(1020+ ”¥t $4AH");

3.

public class Ex6 3 {

public static void main(String[] args) {
String data = ”””
1000 E o 22
1020 21| A BR
1030 84 A 25,

2N .
’

System. out.printin(data);



Exercise 07 BEREFUYRH

1.

(1)
(2)
(3)
(4)

(2*a + 3*b)*c

_UOUJ:D

at+=b;
-=a;
ax=b-1;

10/3
/3
713 102.5
ZZlE12.5

EHESTIE. 2ERNITERL W

boolean IIF ¥+ X FTEH W



Exercise 88 \\B5W A7 A Y w R

1.

package exercise;

import jp.kwebs. lib. Input;

public class Ex8_I {

public static void main(String[] args) {

double a = Input.getDouble("EE”);
double b = Math. toRadians(a);
System. out.printIn(”sin=" + Math.sin(b));
System.out.printIn(”cos=" + Math.cos(b));

2.

import jp.kwebs. |ib. Input;
public class Ex8 2 {
public static void main(String(] args) {

”» _”

double a = Input.getDouble(”a”);
double b = Input.getDouble(”b”);
double ¢ = Input.getDouble(”c”);
double d = Math.abs(Math. pow(b, 2) - 4%a*c);
System. out.printIn("ans=" + Math.sqrt(d));
}
}
3.

public class Ex8 3 {
public static void main(String[] args) {
double a = Math. random();
int p = (int)(6%atl);
System.out.printin("# 44 200 B#="+ p);

4.

import jp.kwebs. |ib. Input;
public class Ex8 4 {
public static void main(String(] args) {

int a = Input.getInt("a”);
int b = Input.getInt(’b”);
int ¢ = Input.getInt(”c”);

int mox = Math. max(Math.max(a, b), c);
System.out.printIn(’a,b,c D DT ARIE=" + max);



5.

import jp.kwebs. lib. Input;
public class Ex8 5 {
public static void main(String(] args) {

String

System.
System.
System.

String
String
System.
System.

strl = Input.getString(”xx%%1");

out.printIn(’xX=Z%=" + strl. length());
out.printIn(4E8EH 5 5 XF=" + strl.substring(0, 5));
out.printIn("%EEA 5 TXFB=" + strl.charAt(6));

str2 = strl.replace(”5”,”70”);
str3 = str2. toUpperCase();
out.printIn("str2=" + str2);

out.printin(”str3=" + str3);

10



Exercise 09 #MRELTHAT S

1.

import jp.kwebs.lib.Input;

public class Ex9_1 {
public static void main(String[] args) {
int a = Input.getInt("a");
double b = Input.getDouble("b");
String c = Input.getString("c");
System.out.printf("a=%,8d%nb=%9.3f%nc=%10s%n", a,b,c);

2.

public class Ex9_2 {
public static void main(String[] args) {

299

String json =
{
P& 5
TRAE” %
TE R %
}

9999 ,
’

System.out.printIn(json. formatted(12345, "@E® %", 90));

TFRALTayITIR, TRT7—TXF (TAB, ") RriLZzmF ek TEF T,

11



Exercise 10 T — 94#&

1.

public class Ex10_I {
public static void main(String[] args) {

String[] fruits = {"apple”, "banana”, "cherry”};

for(String s : fruits) {
System.out.printin(s);

2.

public class Ex10_2 {

public static void main(String[] args) {
double[] data = {0.3, 1.05, 2.2};
double total = 0;

for(double x : data) {
total += x;
}
System.out.printf(”&zt=%.2f%n”, total);
System.out.printf(”F39=%.2f%n” , total/data. length);

3.

import java.util.List;
public class ExI0_ 3 {

public static void main(String(] args) {
var data = List.of(l5.1, 8.75, 10.2);
double total = 0;

for(double x : data) {
total += x;
3
System.out.printIn(”&&t=" + total);
System.out.printin(data);

12



4.
import java.util.ArraylList;
public class Ex10_4 {

public static void main(String[] args) {

var fruits = new ArrayList<String>();
fruits.add(”') > 37);
fruits.add(”/N++7);
fruits.add("&HA”");

for(String s : fruits) {
System. out.printin(s);

5.
import java.util.ArraylList;
public class ExI0 5 {
public static void main(String(] args) {
var |ist = new ArrayList<String>(Q);
list.add("rabbit”);
list.add("cat”);

list.add(”dog”);

list.add("bear”);// ©

System.out.printin(list.get(l)); // @
System.out.printin(list.contains("cat”)); // @
System. out.printin(list. remove(0)); // @
System.out.printin(list.size()); // ®
}
}
6.

public record Product(String code, String name, int price, boolean stock) {}

13



7.

public class ExI0_ 7 {
public static void main(String[] args) {

Product p = new Product(”’MT890”, "X 5> L X %", 280, false);

System.out.printIn("E&I— K =" + p.code());
System. out.printIn(’ &4 =” 4+ p.name());
System. out. print|n(”{H#& =” + p.price());

”»

System. out.printin(”f£E + p.stock());

8.

import java.util.List;
public class ExI0 8 {

public static void main(String(] args) {
var items = List.of(
new Product(”MT890”, "X F > L X 2x>Y”, 280, false),
new Product("MT810”, "9 w E> 7 2Y”, 160, true),
new Product(”MT900”, "X 7 ') 2 —x%>", 330, true));

for(var p : items) {
System. out.printin(p.name() + "¥t” + p.price());

9.

import java.util.List;
public class ExI0 9 {

public static void main(String(] args) {
var cities = List.of(
new Population(”3ki®iE”, 5250, -6.8),
new Population(” RF=&R”, 13921, 7.1),
new Population(” KPRKFE”, 8809, -0.4),
new Population("iBRE”, 5104, -0.7),
new Population("sHhf8E”, 1453, 3.9) );

for(Population p : cities) {
System. out.printIn(p. prefecture() + ”(” + p.rate() + ”)”);

14



Exercise 11 XV v FOERX

1. D
RYMER, 5180 B, XTVIEAIR CHE )0 THE T 3

2.
(1)
import jp.kwebs. |ib. Input;
public class ExIl_2 | {
public static void main(String[] args) {
double mile = Input.getDouble(”=A IL”);
mileToKilo(mile);
}
public static void mileToKilo(double mile) {
System.out.printin(mile + = A JLIEZ” + mile * 1.609 + "Fo A — rIL");

(2)
import jp.kwebs. |ib. Input;

public class ExlIl_2 2 {
public static void main(String[] args) {

double weight = Input.getDouble(”#&&E (kg)”);
double height = Input.getDouble(” & & (cm)”);
bmi (weight, height);

public static void bmi(double weight, double height) {
double bmiIndex = weight / Math.pow(height/100, 2);
System. out. printin(bmiIndex);

15



(3)
import jp.kwebs. lib. Input;

public class ExIl_2 3 {
public static void main(String[] args) {

double weight = Input.getDouble(”#&& (kg)”);
double height = Input.getDouble(” &K (cm)”);
double bmiIndex = bmi(weight, height);
System.out.printIn(bmiIndex);

public static double bmi(double weight, double height) {
return weight / Math. pow(height/100, 2);

(4)

import jp.kwebs. |ib. Input;
public class ExIl_2 4 {
public static void main(String(] args) {
String name = Input.getString("K%");
int score = Input.getInt("1B&57);
String msg = message(name, score);
System. out.printIn(msg);
}
public static String message(String name, int score) {
String message = ”””
ZAIIZEIEYs T A
Hi=nEFEEILRd BTL =,

299,
’

return message. formatted(name, score);

4, MREEHRE

16



Exercise 12 WAWALB|I¥KLERY{E

1.

import java.util.List;
public class Ex12_| {
public static void main(String[] args) {

var scores = List.of(l5, 22, 30, 8, 13);
int total = sum(scores);
System.out.printIn(”&&t=" + total);

public static int sum(List<Integer> scores) {
int tfotal=0;
for(int score : scores) {
total += score;

}

return total;

(2)

import jp.kwebs. |ib. Input;
public class Ex12 2 {
public static void main(String[] args) {
var product = getProduct();
System.out.printIn(product);
}
public static Product getProduct() {
String code = Input.getString(’&&a— K”);
String name = Input.getString("E&4”);
int price = Input.getInt("{@4&”);
boolean missing = Input.getBoolean("#EE");

return new Product(code, name, price, missing);

17



(3)
import java.util.List;
public class ExI12 3 {
public static void main(String(] args) {
var list = getProductList();
for(Product p : list) {
System.out.printin(p);

}
public static List<Product> getProductList(){

var list = List.of(
new Product(”MT890”, "X 5> L X %", 280, false),
new Product("MT810”, "9 v E> 72”7, 160, true),
new Product(”MT900”, "X 7 ') 2 —x<”, 330, true));
return list;

18



Exercise 13 FHDERK

(1)
(2)
(3)
(4)

(5)
(6)
(7)

(1)
(2)
(3)
(4)
(5)
(6)
(7)

3.

n>=100
n>=100 && n<500
n%2==0

(n%3==0 || n%2!=0) && n<100
¥ n%2!=0 | n%2==1 TH LW
co>'t'+1

Math.sqrt(x)>2.90

Is.equals("abc");

OO oo

import jp.kwebs. |ib. Input;

public class ExI3_3 {

public static void main(String(] args) {

String s = Input.getString();

String disp = s.equals(’0K”) || s.equals(Pok”) ? "HBHTLH” :

System.out.printin(disp);

19
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Exercise 14 if X

1.

import jp.kwebs. |ib. Input;
public class Exl4 | {
public static void main(String[] args) {
int nin = Input.getInt(” A%K”);
int gaku = nin % [000;

if(nin>=5) {
gaku *= 0.7;
}
System. out.printf ("%, d A”, gaku);
}
3
2.

import jp.kwebs. |ib. Input;
public class Exl4 2 {
public static void main(String[] args) {
int y = Input.getInt("wEE");

if (y%4==08y%100!=0 || y%400==0) {
System.out.printin("9 %35 & TY");

} else {
System.out.printIn(’3 25 &TlEHY TEAL");

3.

import jp.kwebs. lib. Input;
public class Exl4 3 {
public static void main(String(] args) {
int m = Input.getInt("B”);

if(m<t || m>12) {
System. out.printin(” B DENFRETT”);
Yelse if(m==12 || m<3) {
System.out.printin(”&”);
Yelse if(m<6) {
System. out.printin(’&”);
Yelse if(m<q) {
System. out.printin("E”);
Yelse {
System.out.printIn("#”);

20



public class Exl4 4 {
public static void main(String[] args) {
inta=0, b=0, c=0, d=0;
double[] height = { 175.2, 160.0, 153.6, 177.5, 185.7, 172.3, 191.3 };
for(double h : height) {
if(h < 160) {
++a;
} else if(h < 170) {
++b;
} else if(h < 180) {
++c;
} else {
++d;

}

System.out.printin(’A: ” + a);
System.out.printin(B: ” + b);
System.out.printIn(’C: ” + ¢);
System.out.printin(’D: ” + d);

21



Exercise 15 switch X ¥ switch &

1.

import jp.kwebs. lib. Input;
public class ExI5_ | {
public static void main(String[] args) {
int m = Input.getInt("BA”);
switch(m) {
case 12,1,2 -> System.out.printIn("&”);
case  3,4,5 -> System.out.printin("&”);
case 6,7,8 -> System.out.printin("’E”);
default -> System.out.printin("#”);

2.

import jp.kwebs. lib. Input;
public class Ex15_2 {
public static void main(String(] args) {
int m = Input.getInt("B”);
String season = switch(m) {

case 12, 1, 2 -> "R,
case 3, 4, 5 -> "&”;
case 6, 7, 8 -> "R
default > "FK”;

i

System. out.printin(season);

22



3.
import jp.kwebs. lib. Input;

public class ExI5 3 {
public static void main(String[] args) {
String code = Input.getString("#@&a— K”);

int tanka = switch(code) {
case ”al00”, ”b100”, ”d100” -> 100;

case ”al10”, ”cl00” -> 200;
case ”b110”, "CI10” -> 210;
case ”b120” -> 250;
default -> 03

Ie

if(tanka!=0) {

int kosuu = Input.getInt("{E%”);

System. out.printIn(”&3t&£%8=" + tanka * kosuu);
telse {

System.out.printIn(CE &2 — RAREE->TWET7);

23



Exercise 16 ##Y iR LHEX

1.

import jp.kwebs. lib. Input;

public class Exl6_| {
public static void main(String(] args) {

int total = 0;

for(int i=0; i<5; i++) {
int number = Input.getInt("E%”);
total += number;

3

System.out.printIin(”&&=" + total);

2.

import jp.kwebs. lib. Input;
public class Ex16_2 {
public static void main(String[] args) {
String buffer = ””;
while(true) {

String s = Input.getString();

if(s==null) {
break;
}
buffer += s;
}
System. out.printIn(buffer);
}
3
3.

import jp.kwebs. |ib. Input;
public class Exl6_3 {
public static void main(String[] args) {
int total=0, number;
while((number=Input.getInt())!=0) {
total += number;
3
System. out.printIin(’&%t” + total);

24



4.

import java.util.List;

public class Exl6_&4 {
public static void main(String[] args) {
var names = List.of("apple”, ”Blackberry”, ”Lime”, ”“Mango”, "Watermelon”);

for(String str : names) {
if(str. length()<6) {
continue;

}
System. out.printin(str);

5.

import java.util.List;

// BL77A4ILAICERT 5ITIE public FIF4 W
record Score (String name, int score){}

public class Exl16_5 {
public static void main(String[] args) {
var scores = List.of(
new Score("E®”, 85),
new Score("#AK”, 66),
new Score("EF k", 82),
new Score("A#f”, 57),
new Score("WT”, 77) );

for(Score s : scores) {
if(s.score()<60) {
System. out.printIn(’60 EKETT”);
break;

}
System.out.printin(s);

25



Exercise 17 <MEIIHY FHA>
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Exercise 18 #* 7Y x 7 FDOERK

1.

import java.util.Objects;

public class BankAccount {

private String number; // OEES
private String name; // OFEZE
private double balance; /] FEE

public BankAccount(String number, String name, double balance) {
this.number = number;
this.name = name;
this.balance = balance;

}

public BankAccount() {}

public void deposit(double amount) { // 2 (1)
this.balance += amount;

}
public void withdraw(double amount) { // 2 (2)
this.balance -= amount;

public String getNumber() {
return number;

}

public String getName() {
return name;

}

public double getBalance() {
return balance;

}

public void setNumber(String number) {
this.number = number;

}

public void setName(String name) {
this.name = name;

}

public void setBalance(double balance) {
this.balance = balance;

}

@0verride

public String toString() {
return "BankAccount [number=" + number + ”, name=" + name + ”, balance=" + balance + ”]1”;

}

@0verride

public int hashCode() {
return Objects. hash(balance, name, number);

27



@0verride
public boolean equals(Object obj) {

if (this == obj)
return true;
if (obj == null)

return false;
if (getClass() != obj.getClass())
return false;
BankAccount other = (BankAccount) obj;
return Double. doubleToLongBits(balance) == Double. doubleToLongBits(other. balance)
8& Objects. equals(name, other.name) && Objects. equals(number, other.number);

3.

public class ExI18_I {
public static void main(String(] args) {

var account = new BankAccount(”12345678”, "®@E %", 1000);
System. out.printIn(account);

account. deposit(500);

account.withdraw(250);

System.out.printIn(’#&: ” + account.getBalance());

28



Exercise 19 A RA IS 798 TS5 A AN

1.

public class Function {
private int a;
private int b;

public Function(int a, int b) {

this.a = a;
this.b = b;

}

public Function(int b) {
this(10, b);

}

public Function() {
this(10, 5);

}

public void result() {
System.out.printin(a + ”x + ” + b);

}

public static void main(String[] args) { // 2.
var f = new Function(3);
f.result();

}

29



Exercise 20 2R TEM

1. No
B T4 IILRTHOBEEZERLL L TEWITRWL S,

2.

public final class Stock {
private final Product product; // &
private final int number; // EEEK

public Stock(Product product, int number) {
this. product = new Product(product.getNumber(), product.getPrice(), product.getName());

this.number = number;

}
public Product getProduct() {
return new Product(product. getNumber(), product.getPrice(), product.getName());

}
public int getNumber() {
return number;
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Exercise 21 7 5 RfAK

public class Employee {

private String name; /] W¥EL
private String department; // ERE
private double salary; /] %5

public Employee(String nome, String department, double salary) {
this.name = name;
this.department = department;
this.salary = salary;
}
public void work() {
System. out.printin(name + ”=X A (2” + department + "ICFAREL TV ET7”);

public String getName() {
return name;

}

public String getDepartment() {
return department;

}

public double getSalary() {
return salary;

public class Manager extends Employee {
private int teamSize; // F—LDAE GEMT 1« —IL R)

public Manager(String name, String department, double salary, int teamSize) {
super(name, department, salary);
this. teamSize = teamSize;

public int getTeamSize() {
return teamSize;

}

public class Developer extends Employee {
private String mainLanguage; // £ BEFEEE GEMT7 1 — LK)

public Developer(String name, String department, double salary, String mainLanguage) {
super(name, department, salary);
this.mainLanguage = mainlLanguage;

}

public String getMainLanguage() {
return mainLanguage;

}
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2.

public class Ex21_2 {
public static void main(String[] args) {

var manager = new Manager ("EH %", "&£”, 500000, 6);
System. out.printIn(manager. getName());
System. out. printIn(manager. getDepartment());
System.out.printIn(manager.getSalary());
System. out. printIn(manager. getTeamSize());
manager.work();

3. (B)
FOO 7T AMNAVNEBET I LIATER,
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Exercise 22 AX—/S— 27352 EWVAH

1.

public final class Stock {
private final Product product; // &
private final int number; // EEEK

public Stock(Product product, int number) {
this. product = new Product(product.getProductNumber (), product.getPrice(), product.getName());
this.number = number;
}
public Product getProduct() {
return new Product(product. getProductNumber(), product.getPrice(), product.getNome());
}
public int getNumber() {
return numbers;
}
/] ERLUFRBEAY YR
public int getProductNumber() {
return product.getProductNumber();
}
public int getPrice() {
return product.getPrice();
}
public String getName() {
return product.getName();

2.

public class Manager extends Employee {
private int teamSize; // F—LDAE GEMT 1« —IL K)

public Manager(String name, String department, double salary, int teamSize) {
super (name, department, salary);
this. teamSize = teamSize;

@0verride
public void work() {
System.out.printIn(getName() + "X A DEREL”
+ getDepartment() + "T. ” + teamSize + "ADF—LTT”);
}
public int getTeamSize() {
return teamSize;
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public class Developer extends Employee {

private String mainLanguage; // E%BHFEE GEM7 4 — LK)
public Developer(String name, String department, double salary, String mainlLanguage) {
super(name, department, salary);
this.mainLanguage = mainlLanguage;
@0verride
public void work() {
System. out.printin(getName() + "X A DEREIL”
}
return mainLanguage;

public String getMainLanguage() {
}

+ getDepartment() + ”T. ” + mainLanguage + "THRFEL FT7);

import java.util.List;

public class Ex22 3 {

public static void main(String[] args) {
var list = List.of(

new Manager (" E %"

for(var m

" #” 500000, 6),
new Developer ("EEE—ER”, "BAF”, 500000, ”Java”),
list) {
m.work();

new Developer ("ZaEtaF", "BAF”, 500000, "Python”));
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Exercise 23 #HMR ISRk %M

1.

public abstract class Employee {
private String name; YA ¥ 3-F
private String department; // ZRE
private double salary; // #&5

// AYA 575

public Employee(String name, String department, double salary) {
this.name = name;
this.department = department;
this.salary = salary;

/] EBEETOIAVYY N (BT I5RTH—1"=514F)
public abstract void work();

i G 5=

public String getName() {
return name;

3

public String getDepartment() {
return department;

3

public double getSalary() {
return salary;

2. <MEER>

class Root {}
class Foo extends Root {}
class Bar extends Root {}
class Baz extends Root {}
public class Ex23_3 {
public static void main(String(] args) {
Root r = new Bar();
switch(r) {
case Foo foo -> System.out.printIn(”Foo ®T3"”);
case Bar bar -> System.out.printin("Bar B T97”);
case Baz baz -> System.out.printin("Baz B T3 7”);
default -> System.out.printIn("Root DIRERTIZHY TEA");
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Exercise 24 A >97x—2X

public interface Greeter {
String greet();

public class Robot implements Greeter {
@0verride
public String greet() {
return "2 AIZH 137

public class Car implements Greeter {
@0verride
public String greet() {
return "Hello”;

public class Computer implements Greeter {
@0verride
public String greet() {
return "Guten Tag”;

import java.util.List;
public class Ex24 | {

public static void main(String(] args) {
var fellow = List.of(
new Robot(),
new Car(),
new Computer());

fel low. forEach(m—>System. out.printin(m.greet()));
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interface SimpleHasher {
int computeHash(String input);

public class SumHasher implements SimpleHasher {

@0verride
public int computeHash(String input) {
int total = 0;
for (char ¢ : input.toCharArray()) {
total += c;
}

return total;

public class XorHasher implements SimpleHasher {

@0verride
public int computeHash(String input) {
int result = 0;
for (char c : input.toCharArray()) {
result "= c;
3

return result;

import jp.kwebs. lib. Input;
public class Ex24 2 {
public static void main(String(] args) {
String input = Input.getString();
//  SimpleHasher sh = new SumHasher();
SimpleHasher sh = new XorHasher();

int hashCode = calculateHash(input, sh);
System.out.printinCinput + ”: ” + hashCode);

}

public static int calculateHash(String input, SimpleHasher sh) {
int hashCode = sh. computeHash(input);
return hashCode;
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Exercise 25 S 49X

1.
return I &

(1) B
(2) E
(3) A
(4) D
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Exercise 26 AL 7>a>7L—4LT7—7

1.

import java.util.List;
public class Ex26_| {

public static void main(String(] args) {
var numbers = List.of(l10, 15, 20, 7, 18);
numbers. forEach(n->System. out.print(n + ” ”));

2.

import java.util.HashMap;
public class Ex26_2 {
public static void main(String[] args) {

var map = new HashMap<Integer, String>();
map. put(l, "Tokyo”);
map. put (2, ”0Osaka”);
map. put(3, ”Fukuoka”);
map. forEach((k, v)-> System.out.printin(k + ”: ” + v));

3. B
NyTaty MIRCERIIVEDULAMAEF TRV

LinkedHashSet
TreeSet

LinkedHashMap

O N W >

TreeMap
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5.

import java.util.ArrayList;
import java.util.Comparator;

public class Ex26_5 {
record PhoneNumber (String number, String owner) {}

public static void main(String[] args) {
var numbers = new ArraylList<PhoneNumber>();

numbers. add(new PhoneNumber (”12-123-4567", ”Tanaka”));
numbers. add(new PhoneNumber (”34-567-8901”, ”Suzuki”));
numbers. add(new PhoneNumber (*45-678-9012”, ”Satho”));
numbers. add(new PhoneNumber (”56-789-0123”, ”Inoue”));
numbers. add(new PhoneNumber (”78-901-2345", ”Nakamura”));

numbers. sort(Comparator. comparing(PhoneNumber: :number));
numbers. forEach(System.out::printin);

System.out.printIn(” 57— 7 4%$%=" + numbers.size());

numbers. sort(Comparator. comparing(PhoneNumber: :owner). reversed());
numbers. forEach(System.out::printin);
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Exercise 27 X bM!)—L A

1.

public class Ex27_I {
public static void main(String[] args) {
var breads = Bread. getBreadList();
breads. stream()
.filter(b—>b.country().equals(”BA"))
. forEach(System.out::printin);

2.

public class Ex27_2 {
public static void main(String(] args) {
var breads = Bread.getBreadList();
breads. stream()
.filter(b—>b.soldout())
.map(Bread: :name)
. forEach(System.out::printin);

3.

import java.util.Comparator;
public class Ex27 3 {
public static void main(String(] args) {
var breads = Bread.getBreadList();
breads. stream()
.filter(b—>b.country().equals(” 75 > R”))
.sorted(Comparator. comparing(Bread: :price))
.map(b—>b. name()+” ”+b.price())
. forEach(System.out::printin);

4.

import java.util.Comparator;
public class Ex27 4 {
public static void main(String(] args) {
var breads = Bread.getBreadList();
breads. stream()

.sorted(Comparator. comparing(Bread::price). reversed())
Llimit(3)

.map(b->b. name )+” "+b.price())
. forEach(System.out::printin);
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5.

public class Ex27 5 {
public static void main(String[] args) {
var breads = Bread.getBreadList();
breads. stream()
.map(Bread::country)

.distinct()
.sorted()
. forEach(System.out::printin);
}
}
6.

public class Ex27 6 {
public static void main(String(] args) {
var breads = Bread.getBreadList();
var average = breads. stream()
.mapToInt(Bread::price)
.average();
System.out. printf(”FE9=%. | f%n” , average. getAsDouble());
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Exercise 28 collect | & 2R 1E

1.

public class Ex28_ | {
public static void main(String[] args) {

var data = Sales.getList();

int sum = data.stream()
.mapToInt(s—>s. quantity() *s.pc().price())
.sum(Q);

System.out.printf("#55Y) EF = ¥¥%, d%n”, sum);

2.ERZHOHLEY LIFEIEIVL 5TT L

public class Ex28 2 {
public static void main(String(] args) {

var data = Sales.getList();

int sum = data.stream()
.filter(s—>s.office().equals("E®E"))
.mapToInt(s—>s.quantity() *s.pc().price())
.sumQ);

System.out.printf("#z Y EIF = ¥¥%, d%n”, sum);

3LRREMTEY /Y 2> 0BM 2 EHERVTHEL T LTL

import java.util.stream.Collectors;
public class Ex28 3 {
public static void main(String[] args) {

var data = Sales.getList();

String names = data. stream()
.filter(s—>s.office().equals(”KFR"))
.map(s—>s.pc().name())

.distinct()
.collect(Collectors. joining(”,”));

System.out.printIn(’ KBREZ L nH#iE') X & = 7 + names);
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4.100,000 A EOERG| XA HH Y T3

public class Ex28 4 {
public static void main(String[] args) {

var data = Sales.getList();

long count = data.stream()
.filter(s—>s.quantity() * s.pc().price() >=100000)
.count();

System. out.printf(”100,000 AWM Lt Z3EHE = %d #4%n”, count);

SHEEEFNNELEBENEHERTLTILLETW

import java.util.stream.Collectors;
public class Ex28 5 {
public static void main(String[] args) {

var data = Sales.getlList();
var map = data.stream()
.collect(Collectors.groupingBy(Sales: :name,
Collectors. summingInt(s->s.quantity() * s.pc().price())));

System.out.printIn("#BY4ERHE EE”);
map. forEach((k,v) —> System.out.printf(” %s: ¥¥%,d%n” ,k,v));

44



Exercise 29 #9038

1.

2.RDTATSLIEFFZDAY Y R F v 7BI5h 23R IF 2D T,

C
EITRHIS FEF = v 7HI9F) % 5 throws B

EIFE

AT S—II%h 5T

WET, FISMEEEML TELSEETSLIITLTLEIW,

import java. io.IOException;
import java.nio.file.Files;
import java.nio. file.Path;
import java.util.List;

public class Ex29 2 {

public static void main(String(] args) {

var data = read();
data. forEach(System. out::printin)
}
public static List<String> read() {
Path p = Path.of(”someText. txt”);
List<String> lines = null;
try {
lines = Files.readAl ILines(p)
} catch (I0Exception e) {
e.printStackTrace();
3

return |ines;

’

’
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3.

import java. io.IOException;
import java.nio.file.Files;
import java.nio. file.Path;
public class Ex29 3 {
public static void main(String[] args) {
String line = read();
System. out.printin(line);
}
public static String read() {
Path p = Path.of(”someText. txt”);
String line = null;
try (var reader = Files.newBufferedReader(p)) {
line = reader.readLine();

} catch (I0Exception e) {
e.printStackTrace();

}

return line;

4.

public class BadCharException extends RuntimeException {
private static final long serialVersionUID = IL;

public BadCharException(String message) {
super (message) ;

6. A—/8—7 5D I0Exception #°, # 77 5 XM FileNotFoundException £ Y ¥ &I F
rYFINTWS
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Exercise 30 ZJZF®

1.
public enum DrinkType { COFFEE, TEA, JUICE}

2.

public class Ex30_2{
public static void main(String[] args) {
DrinkType selectedDrink = DrinkType.COFFEE;

switch(selectedDrink){
caseCOFFEE -> System.out.printin(”’a—E—ZREHTT");

caseTEA -> System.out.printIn("AIRRKKTT”);
default -> System.out.printin(’> 2 —LETT”);
}
}
}
3.
public enum DrinkType {
COFFEE {
@0verride

public String getCaffeineLevel () {
return "High”; // 2a—kE—WEH7z4>%8

3
IR
TEA {
@0verride
public String getCaffeineLevel () {
return "Medium”; // SIRIEPIEE
3
IR
JUICE {
@0verride
public String getCaffeineLevel () {
return "None”; // Y a—RIZEERWITHT=A >R L
3
3

public abstract String getCaffeinelLevel();
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4.

import java.util.List;
public class Ex30_4{
public static void main(String(] args) {
var drinkTypes = List.of(DrinkType.COFFEE, DrinkType.TEA, DrinkType.JUICE);

drinkTypes. stream()
. forEach(+->System. out. printIn(t.getCaffeineLevel )));
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Exercise 31 FEHREFR

(1) AHTDBFOHN LR BZXFIIZYFT S
~[@-9]{4}$

(2) AINXFULBFNOLE IXFREBEXFIIZYF TS
~a-z0-9]+$

(3) EXFENHDEE 2 O, AR—ZX1D2TREYSLNEXFIICTYFT 5
~[A-Za-z]+¥s[A-Za-z]+$

(4) BB . REH ¢ T, BITEREOXFH 0 XFULEM XFIIZ Y FT 5
~a.*c$

(5) color T% colors TH v vFT 5
~colou?s$

(6) BEAVAXF. TORICENXFHN 1 XFUREBMSXFINZYF TS
~[A-Z][a-z]+$

(7) c £ t ORMITAERD 1 XFNANS I XFOXFIIIZYF T3
~c.t$

(8) F(4#)-R2t)-BQMMOERIITYFT S
~¥d{4}-¥d{2}-¥d{2}$

(1) BFZE2RK 1 2B 2ARDEINO6XERLOXFIIITYF T3
~(?=.*[0-9]).{6,}%

(2) REFUHER 1 2DBULEBORIV 6 XFULEOXFFIIIZY FT 5
A(?=.*[*A-Za-20-9]).{6,}$

3.

import java.util.List;

public class Ex31 3 {
public static void main(String[] args) {

var timeList = List.of(”12:31”,”00:00”, ”24:00”, ”23:59”,”12:60”);
String timeRegex = ”~([01]¥¥d|2[0-3]):[0-5]¥¥d$”;

/] ZAb)=LTT74L9Y) 270, v FLEBDETETR
timeList.stream()
.filter(time —-> time.matches(timeRegex))
.forEach(System.out::printin);
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Exercise 32 Hft &%

1.

import java. time.LocalDate;

import java. time.LocalDateTime;

import java. time.LocalTime;

public class Ex32_I {

public static void main(String[] args) {

System. out.printIn(LocalDate.of(2025, 3, 1));
System. out.printin(LocalTime.of(23, 5, 45));
System.out.printIn(LocalDateTime.of(2025, 3, |, 23, 5, 45));

2.

import java. time.LocalDate;

import java. time.LocalDateTime;

import java. time.LocalTime;

public class Ex32_2 {

public static void main(String(] args) {

System.out.printIn(LocalDate. parse(”2025-03-01"));
System. out.printin(LocalTime. parse(”23:05:45”));
System.out.printIn(LocalDateTime. parse(”2025-03-01T23:05:45"));

3.

import java. time.LocalDate;
import java. time.chrono.JapaneseDate;
import java. time. format.DateTimeFormatter;

public class Ex32_3 {
public static void main(String[] args) {
var format = DateTimeFormatter.ofPattern("Gy £EM B d B eeee”);

var jdate = JapaneseDate. from(LocalDate. now());
System.out.printin(jdate. format(format));
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4.

import java. time.LocalTime;
import java. time. format.DateTimeFormatter;
public class Ex32 4 {
public static void main(String[] args) {
var formatter = DateTimeFormatter.ofPattern(”ah B m % s #”);
System. out.printIn(LocalTime.now(). format(formatter));

5.

import java. time.LocalDate;
public class Ex32_5 {
public static void main(String(] args) {
var date = LocalDate.of (2025, |, 3)
.plusYears(5)
.plusMonths(7)
.plusDays(13);

System. out.printin(date);

6.

import java. time.LocalDate;
import java.util.List;

public class Ex32_ 6 {
public static void main(String(] args) {
var dates = List.of(

LocalDate.of (2021, 3, 20),
LocalDate.of (2025, 4, 8),
LocalDate.0f(2025, 8, 3),
LocalDate.of (2024, 11, 13),
LocalDate.of(2025, 10, 2));

var referenceDate = LocalDate.of (2025, 7, 31);
dates. stream()

.filter(d—>d. isBefore(referenceDate))
.forEach(System.out::printin);
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7.

import java. time.LocalDate;
import java.time.Period;
import java. time. temporal.ChronoUnit;

public class Ex32_7 {
public static void main(String(] args) {
LocalDate birthday = LocalDate.of (1979, 1,3);
LocalDate entryDate = LocalDate.of(2002, 4, 1);

System. out. printIn(ChronoUnit. YEARS. between(birthday, LocalDate.now()) + "%");

var p = Period.between(entryDate, LocalDate.now());
System. out. printf("#hf=%d £%d 7 B%n”, p. getYears(), p.getMonths());
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Exercise 33 774 IAYEAS

1.

import java. io. IOException;
import java.nio.file.Files;
import java.nio. file.Path;
import java.util.List;
public class Ex33_I {

public static void main(String[] args) {
var csv = List.of(

”1D, Name, Age, Emai |, Phone”,
" |, {ERE KER, 28, taro. sato@example. com, 090-1234-5678",
"2, 857K fEF, 34, hanako. suzuki@examp | e. com, 080-2345-6789”,
"3, A&t #HK, 42, shota. kimura@example. com, 070-3456-7890”,
"4, B FEMK, 25, kar in. yamada@examp | e. com, 090-4567-8901”,
"5, /MK Z&#8t, 31, haruki. kobayashi@examp | e. com, 080-5678-9012") ;

Path p = Path.of("meibo.csv”);
try {
Files.write(p, csv);
} catch (I0Exception e) {
e.printStackTrace();

2.

import java. io. IOException;
import java.nio.file.Files;
import java.nio.file.Path;
public class Ex33_2 {
public static void main(String(] args) {

Path p = Path.of("meibo.csv”);

try {
var list = Files.readAllLines(p);
list. forEach(System. out::printin);

} catch (I0Exception e) {
e.printStackTrace();
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3.

import java. io.FileNotFoundException;
import java.io.PrintWriter;
import java.util.List;
public class Ex33_3 {
public static void main(String[] args) {

var csv = List.of(
”1D, Name, Age, Emai |, Phone”,
"\, {&£@k& KXER, 28, taro. sato@example. com, 090-1234-5678",
72, 85K fEF, 34, hanako. suzuki@examp | e. com, 080-2345-6789”,
"3, A&t #HK, 42, shota. kimura@examp | e. com, 070-3456-7890",
"4, LB AR, 25, karin. yomada@examp | e. com, 090-4567-8901”,
"5, /MK ZA#8t, 31, haruki. kobayashi@examp | e. com, 080-5678-9012") ;

String stringPath = "meibo. txt”;
try (var writer = new PrintWriter(stringPath)) {
for(String s : csv) {
writer.printin(s);
}
} catch (FileNotFoundException e) {
e.printStackTrace();

4.

import java. io. IOException;
import java.nio.file.Files;
import java.nio.file.Path;
public class Ex33_4 {
public static void main(String(] args) {

var p = Path.of("meibo. txt”);

try (var reader = Files.newBufferedReader(p)) {
String line;
while((line=reader.readLine())!=null) {

System.out.printIn(line);

}

} catch (I0Exception e) {
e.printStackTrace();
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import java. io.IOException;
import java.nio.file.Files;
import java.nio. file.Path;
public class Ex33.5 {
public static void main(String[] args) {

try {
Files.createDirectories(Path.of("meibo/csv”));
Files.createDirectories(Path.of("meibo/txt”));
} catch (I0Exception e) {
e.printStackTrace();

6.

import java. io. IOException;
import java.nio.file.Files;
import java.nio.file.Path;
public class Ex33_6 {
public static void main(String(] args) {

try {
Files.move(Path. of ("meibo.csv”), Path.of(”meibo/csv/meibo.csv”));
Files.move(Path.of ("meibo. txt”), Path.of("meibo/txt/meibo.txt”));
} catch (I0Exception e) {
e.printStackTrace();

7.

import java. io. IOException;
import java.nio.file.Files;
import java.nio.file.Path;
public class Ex33_7 {
public static void main(String(] args) {
var path = Path.of("meibo/”);
try (var stream = Files.walk(path)) {
stream. filter(Files::isRegularFile)
.map(Path::getFileName)
.forEach(System.out::printin);
} catch (I0Exception e) {
e.printStackTrace();
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Exercise 34 <ILFRXL v K HIBEEIIRL
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Exercise 35-1 Wz 777 Y4y —Sa>

BEIEABLIT,
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Exercise 35-2 Wz 77 Y4y —Sa>

2.

package jp. kwebs.myapp. controller;

import org.springframework. stereotype.Controller;
import org.springframework.web. bind. annotation. GetMapping;

@Control ler
public class MyappController {

@GetMapping(”/myapp”)

public String display() {
return “comment”;
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Exercise 35-3 Wz 77 Y4y —Sa>

3.

<IDOCTYPE html>

<htm| xmlns:th="http://www. thymeleaf.org”>
<head>

<meta charset="UTF-8">
<title>comment</title>

</head>

<body>

<hl>a 4> k</hI>

</body>

</html>
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Exercise 35-4 9z 77 Y4y —Sa>

4. Myapp2 70¥ =z 7 k
(1) comment-entry.html

<IDOCTYPE html>

<html xmlns:th="http://www. thymeleaf.org”>
<head>

<meta charset="UTF-8">
<title>comment</title>

</head>

<body>

<hl>a A > bDXNAH</hI>

<form th:action="@{/myapp}” method="post”>
AT b

<input type="text” name="comment”>

<input type="submit” value="3%{2">

</form>

</body>

</htm|>

(2) a>vba—5-—

package jp. kwebs.myapp. controller;
import org.springframework. stereotype.Controller;
import org. springframework.web. bind. annotation. GetMapping;

@Control ler
public class MyappController {

@GetMapping(”/myapp”)

public String display() {
return “comment-entry”;
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Exercise 35-5 Wz 77 Y4y —a>

5. MyappController

@Control ler
public class MyappController {

@GetMapping(”/myapp”)
public String display() {
return “comment-entry”;

@PostMapping(”/myapp”)

public String commentData(@RequestParam String comment, Model model) {
mode|. addAttribute(”comment”, comment);
return “comment-result”;
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Exercise 35-6 Wz 77 Y4y —Sa>

6. comment-result.html

<IDOCTYPE html>
<htm| xmlns:th="http://www. thymeleaf.org”>
<head>
<meta charset="UTF-8">
<title>bookResut</title>
</head>
<body>

<hI>NAXNFa 4> k</hl>

a A > b :<span thitext="${comment}”’>%h%hEH L 3\ | </span>
</body>
</html>

7. BB
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Exercise 36-1 7 #—4&E FTXFXILRYIX

1.48%

2. TextboxController.java

@Control ler
public class TextboxController {

@GetMapping(”/address”)
public String display() {
return ”textbox-enter”;

@PostMapping(”/address”)

public String result(@RequestParam String address, Model model) {
model.addAttribute(”address”, address);
return "textbox-result”;

textbox-enter.html

<IDOCTYPE html>
<html xmlns:th="http://www. thymeleaf.org”>
<head>
<meta charset="UTF-8">
<title>address</title>
</head>
<body>
<form th:action="@{/address}” method="post”>
<input type="text” name="address”>
<input type="submit” value="3(Z">
</form>
</body>
</html>

textbox-result.html

<IDOCTYPE html>

<htm!| xmlns:th="http://www. thymeleaf.org”>
<head>

<meta charset="UTF-8">
<title>address</title>

</head>

<body>

£ :

<span th:text="${address}”>5 F#k</span>
</body>

</htm|>
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Exercise 36-2 7 #— A& BOANA

DateController. java

@Control ler
public class DateController {

@GetMapping(”/hol iday”)
public String display() {
return "date-enter”;

@PostMapping(”/holiday”)

public String result(@RequestParam LocalDate holiday, Model model) {
mode|. addAttribute(”holiday”, holiday);
return "date-result”;

date-enter.html

<IDOCTYPE html>

<html xmlns:th="http://www. thymeleaf.org”>
<head>

<meta charset="UTF-8">

<title>date</title>

</head>
<body>
<form th:action="@{/holiday}” method="post”>
<div>
<input type="date” name="holiday”>
<input type="submit” value="3%/5">
</div>
</form>
</body>
</html>

date-result.html

<IDOCTYPE html>
<htm| xmlIns:th="http://www. thymeleaf.org”>
<head>
<meta charset="UTF-8">
<title>date</title>
</head>
<body>
me:
<span th:text="${holiday}”>2000-01-01</span>
</body>
</htm|>
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Exercise 36-3 7 #4—4AB&E SVYAKRI >

RadioController.java

@Control ler
public class RadioController {

@GetMapping(”/city”)
public String display() {
return “radio-enter”;

@PostMapping(”/city”)

public String result(@RequestParam String city, Model model) {
model.addAttribute("city”, city);
return "radio-result”;

radio-enter.html

<IDOCTYPE html>
<html xmlns:th="http://www. thymeleaf.org”>
<head>
<meta charset="UTF-8">
<title>city</title>
</head>
<body>
<form th:action="@{/city}” method="post”>
<input type="radio” name="city” value=" 8 B">HE R
<input type="radio” name="city” value=" ABR”>ABR
<input type="radio” name="city” value="%&[”>%& M
<br><input type="submit” value="3%1{2">
</form>
</body>
</html>

radio-result.html

<IDOCTYPE html>
<htm| xmlIns:th="http://www. thymeleaf.org”>
<head>
<meta charset="UTF-8">
<title>city</title>
</head>
<body>

0

<span th:text="${city}’>E R </span>
</body>
</htm|>
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Exercise 36-4 74 —4L8% FxzvI2EKrvIX

CheckboxController.java

@Control ler
public class CheckboxController {

@GetMapping(”/fruit”)
public String display() {
return “checkbox-enter”;

@PostMapping(”/fruit”)

public String result(@RequestParam List<String> fruit, Model model) {
model.addAttribute("fruit”, fruit);
return ”checkbox-result”;

checkbox-enter.html

<IDOCTYPE html>
<html xmlns:th="http://www. thymeleaf.org”>
<head>
<meta charset="UTF-8">
<title>fruit</title>
</head>
<body>
<form th:action="@{/fruit}” method="post”>
<input type="checkbox” name="fruit” value="") > 3”>!) > I
<input type="checkbox” name="fruit” value="# L >¥">% L >
<input type="checkbox” name="fruit” value=".33¥ 9 "> ¢ 9
<br><input type="submit” value="3%1{2">
</form>
</body>
</html>

checkbox-result.html

<IDOCTYPE html>
<htm| xmlIns:th="http://www. thymeleaf.org”>
<head>
<meta charset="UTF-8">
<title>fruit</title>
</head>
<body>

WEREY : <br>

<span th:text="${fruit}’>[" > I, % L > ]</span>
</body>
</htm|>
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Exercise 36-5 7 #—4%&E Foyv 9y )2k

DropdownController.java

@Control ler
public class DropdownController {

@GetMapping(”/transport”)
public String display() {
return ”dropdown-enter”;

@PostMapping(”/transport™)

public String result(@RequestParam String transport, Model model) {
mode|. addAttribute(”transport”, transport);
return ”dropdown-result”;

dropdown-enter.html

<IDOCTYPE html>

<htm!| xmlns:th="http://www. thymeleaf.org”>

<head>

<meta charset="UTF-8">

<title>select</title>

</head>

<body>

<form th:action="@{/transport}” method="post”>
<select name="transport”>

<option value="none”>i&R L T < =¥\ </option>
<option value="#ki&">$kil</option>
<option value="ITHL">F1TH%</option>
<option value="/N2”>/XZ</option>

</select>
<input type="submit” value="3.{2">
</form>
</body>
</htm|>

dropdown-result.html

<IDOCTYPE html>

<htm| xmlns:th="http://www. thymeleaf.org”>
<head>

<meta charset="UTF-8">
<title>select</title>

</head>

<body>

R

<span th:text="${transport}”>E B </span>
</body>

</htm|>
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Exercise 36-6 7 #—A4%&H TFAbLY7F

TextareaController.java

@Control ler
public class TextareaController {

@GetMapping(”/notice”)
public String display() {
return ”textarea-enter”;

}

@PostMapping(”/notice”)

public String textareaResult(@RequestParam String notice, Model model) {
mode|. addAttribute("notice”, notice);
return ”"textarea-result”;

Textarea-enter.html

<IDOCTYPE html>

<htm!| xmlns:th="http://www. thymeleaf.org”>
<head>

<meta charset="UTF-8">

<title>text area</title>

</head>
<body>
<form th:action="@{/notice}” method="post”>
Brmosd <br>
<textarea name="notice” rows="4" cols="50"></textarea>
<br><input type="submit” value="3%{2">
</form>
</body>
</htm|>

textarea-result.html

<IDOCTYPE html>
<htm| xmlns:th="http://www. thymeleaf.org”>
<head>
<meta charset="UTF-8">
<title>text area</title>
</head>
<body>
P s i<br>
<div th:text="${notice}” style="white-space: pre;”>
| T B <br>
2178
</div>
</body>
</htm|>
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Exercise 37-1 Thymeleaf: # YR L X REM T HRF

1. B8
2. YZRMDTFT =959z TITkRRT HLIE

(1) a>ba—=5—X%Y v F(exercise_371)

@GetMapping(”/ex371”)

public String exercise_37!(Model model) {
var items = List.of("apple”, ”“banana”, “cherry”);
model.addAttribute(”items”, items);
model.addAttribute(”stock”, true);
return ”/ex371”;

(2)ex371.html

<IDOCTYPE html>
<htm| xmlns:th="http://www. thymeleaf.org”>
<head>
<meta charset="UTF-8">
<title></title>
</head>
<body>
<ul th:if="${stock}”>
<li th:each="item : ${items}” th:text="${item}”>grape</Ii>
</ul>
<p th:unless="${stock}’">7EE% L</p>
</body>
</html>
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Exercise 37-2 Thymeleaf: # 7Yz 7 hDETR

1.Bread.java

public class Bread {
private String name;
private int price;

public Bread() {

¥

public Bread(String name, int price) {
this.name = name;
this.price = price;

¥

public String getName() {
return name;

)

public void setName(String name) {
this.name = name;

)

public int getPrice() {
return price;

)

public void setPrice(int price) {
this.price = price;

2.2 bEA—=7—=%XY v K (exercise 372)

@GetMapping("/ex372")

public String exercise_372(Model model) {
var bread = new Bread("”7 7 > R/\>", 350);
model.addAttribute("bread", bread);
return "ex372";

3.ex372.html

<!DOCTYPE html>
<html xmlns:th="http://www.thymeleaf.org">
<head>
<meta charset="UTF-8">
<title></title>
</head>
<body>
<div th:object="${bread}" >
fm% . <span th:text="*{name}">7 > /¥></span><br>
ffit& : <span th:text="*{price}">150</span>
</div>
</body>
</html>
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Exercise 37-3 Thymeleaf: # 7Yz 7 ¥ L TRITERS

1.3>hu—5—AYy K

@GetMapping("/ex373")
public String exercise_373(Model model) {
return "ex373";

@PostMapping("/ex373")
public String exercise_373 result(Bread bread) {
return "ex372"; // BIEfE-7-b D EZ D F FF B

2. ex373.html

<IDOCTYPE html>

<html xmlns:th="http://www.thymeleaf.org">
<head>

<meta charset="UTF-8">

<title></title>

</head>

<body>
<form th:action="@{/ex373}" method="post">
fht:<input type="text" name="name"><br>
ffi#%: <input type="text" name="price"><br>
<input type="submit" value="iX{E">
</form>
</body>

</html>
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Exercise 37-4 Thymeleaf: 74— ALY ATV I bENRA RT3

1.3>hE—5—AYy K

@GetMapping(”/ex374”)

public String exercise_374(Model model) {
model. addAttribute("bread”, new Bread(” 7 5> R/¥>”, 350));
return “ex374”;

@PostMapping(”/ex374”)
public String exercise_374 result(Bread bread) {
return "ex372”;// BiBME->FbDExDF L F A

T>7L— bt (ex374.html)

<IDOCTYPE html>

<html xmlns:th="http://www. thymeleaf.org”>
<head>

<meta charset="UTF-8">

<title></title>

</head>

<body>
<form th:action="@{/ex374}” method="post” th:object="${bread}”>
4 <input type="text” th:field="#{name}”><br>
4% :<input type="text” th:field="*{price}”><br>
<input type="submit” value="3(Z">
</form>
</body>

</html>
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1.

Exercise 38-1 &Y

B
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Exercise 38-2 RAE&RY]

PcForm. java

package jp. kwebs. pcshop. form;

import
import
import
import
import
import

public

java.util.List;
jakarta.validation

jakarta.validation

class PcForm {

private Long id;
private String cpu;

private

private String os;

private

public PcForm() {}
public PcForm(Long id, String cpu, Integer memory,

}

this.id = id;
this.cpu = cpu;

.constraints. Max;
jakarta.val idation.
jakarta.val idation.

constraints.Min;
constraints.NotBlank;

.constraints. NotEmpty;
jakarta.validation.

constraints.NotNull;

Integer memory;

List<String> storage;

this.memory = memory;

this.os = os;

this.storage = storage;

public Long getId() {

}

return id;

public String getCpu() {

}

return cpu;

public Integer getMemory() {

}

return memory;

public String get0Os() {

}

return os;

public List<String> getStorage() {

}

return storage;

public void setId(Long id) {

}

this.id = id;

public void setCpu(String cpu) {

}

this.cpu = cpu;

public void setMemory(Integer memory) {
this.memory = memory;

}

public void set0s(String os) {

}

this.os = os;

public void setStorage(List<String> storage) {
this.storage = storage;
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Exercise 38-3 #AE&RE

PcController.java

package jp. kwebs. pcshop. controller;

import org.springframework. stereotype.Controller;

import org.springframework. ui.Model;

import org. springframework.web. bind. annotation. GetMapping;
import org. springframework.web. bind. annotation.RequestMapping;
import jp.kwebs.pcshop. form. PcForm;

@Control ler
@RequestMapping(”/pc”)
public class PcController {

@GetMapping(”/create”)

public String create(Model model) {
mode | . addAttribute(”pcForm”, new PcForm());
return “pc-create”;
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Exercise 38-4 AE&RY

pc-create.html

<IDOCTYPE html>
<html xmlns:th="http://www. thymeleaf.org”>
<head>

<meta charset="UTF-8">

<title>PC NS 7 # — L</title>
</head>
<body>

<h2>PC fL#ENA 7 # — £5</h2>

<form th:action="@{/pc/create}” method=

"post” th:object="${pcForm}”>

<option value="Windows”>Windows</option>
<option value="Mac0S”>Mac0S</option>
<option value="Linux”>Linux</option>

th:field="*{storage}” value="HDD”>HDD
th:field="*{storage}” value="STA-SSD”>STA SSD
th:field="#{storage}” value="NVMe-SSD”>NVMe SSD

<table>
<tr>
<td>CPU:</td>
<td>
<input type="text” th:field="*{cpu}”’>
</td>
</tr>
<tr>
<td>A E!) :</td>
<td>
<input type="number” th:field="*{memory}”>
</td>
</tr>
<tr>
<td>0S:</td>
<td>
<select th:field="%{os}”>
</select>
</td>
</tr>
<tr>
<td>R b L —i</td>
<td>
<input type="checkbox”
<input type="checkbox”
<input type="checkbox”
</td>
</tr>
</table>
<input type="submit” value="fEm”>
</form>
</body>
</htm|>
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Exercise 38-5 A4EY

A2 hbE—F—AYYF

@PostMapping(”/create™)
public String result(PcForm pc) {
return “pc-result”;

pc-result.html

<IDOCTYPE html>
<html xmlns:th="http://www. thymeleaf.org”>
<head>
<meta charset="UTF-8">
<title>PC D{tkk</title>
</head>
<body>
<hI>PC D fEtk</h1>
<table th:object="${pcForm}”>
<tr>
<td>CPU : </td>
<td th:text="#{cpu}’>Intel</td>
</tr>
<tr>
<td>A E®! :</td>
<td th:text="*{memoryl}+ GB’ ”>16GB</td>
</tr>
<tr>
<td>0S : </td>
<td th:text="*{os}”>Windows</td>
</tr>
<tr>
<td>Z b L= @ </td>
<td th:text="#{storage}”>[HDD, STA-SSD]</td>
</tr>
</table>
</body>
</html|>
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Exercise 38-6 fAERY

pc-result.html

<IDOCTYPE html>
<html xmlns:th="http://www. thymeleaf.org”>
<head>
<meta charset="UTF-8">
<title>PC DIL#k</title>
</head>
<body>
<h|>PC D {E#%</h1>
<table th:object="${pcForm}”>
<tr>
<td>CPU : </td>
<td th:text="*{cpu}”’>Intel</td>
</tr>
<tr>
<td>AE! :</td>
<td th:text="*{memory}+ GB’ ”>16GB</td>
</tr>
<tr>
<td>0S : </td>
<td th:text="*{os}”">Windows</td>
</tr>
<l--
<tr>
<td>R b L= 1 </td>
<td th:text="*{storage}”>[HDD, STA-SSD]</td>

</tr>
-
<tr>
<td>Z b L= i </td>
<td th:text="${#istrings. listJoin(pcForm.storage, ’,’ )}”>HDD, STA-SSD</td>
<tr>
</table>
</body>
</html>
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1. HBE

Exercise 39-1 N\!)F—< 3> N F—4

2.

import

import
import
import
import
import

java.util.List;

jakarta.
jakarta.
jakarta.
jakarta.
jakarta.

validation
validation.
validation.
validation
validation.

public class PcFormV {
private Long id;
@NotBlank
private String cpu;
@NotNul |
@Max(value=128)
@Min(value=4)
private Integer memory;
@NotNul
private String os;
@NotEmpty
private List<String> storage;

public PcFormv() {}
public PcFormV(Long id, String cpu, Integer memory, String os, List<String> storage) {
this.id = id;

this.cpu = cpu;
this.memory = memory;
this.os = os;
this.storage = storage;

.constraints.Max;

constraints.Min;
constraints.NotBlank;

.constraints. NotEmpty;

constraints.NotNull;

/] TvId—rty9—ldRHEEAR
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Exercise 39-2 NYF—=Ya> NYF—3a>hELT

A2 hO—=5—AYy R (NYF—=>a>2EFT3)

@PostMapping(”/create”)
public String result(@Valid PcForm pc, BindingResult result) {
if(result.hasErrors()) {
return “pc—create”;

}

return "pc-result”;
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Exercise 39-3 N\ F—< 3> IS—AvtE—YNER

1.PcForm /N F—=<a> Ay —I%3E M

import java.util.List;

import jakarta.validation.constraints.Max;
import jakarta.validation.constraints.Min;
import jakarta.validation.constraints.NotBlank;
import jakarta.validation.constraints.NotEmpty;
import jakarta.validation.constraints.NotNull;

public class PcFormV {
private Long id;
@NotBlank(message="CPU #ZEAN L TL X \")
private String cpu;
@NotNul | (message=" X&) %A L TL X W)
@Max(value=128, message="128GB AN T¥"”)
@Min(value=4, message="4GB At T¥”)
private Integer memory;
@NotNul | (message="0S %#iR L TL ¥ ")
private String os;
@NotEmpty(message=" | DX EZRIR L TL X W)
private List<String> storage;

public PcFormv() {}
public PcFormV(Long id, String cpu, Integer memory, String os, List<String> storage) {
this.id = id;
this.cpu = cpu;
this.memory = memory;
this.os = os;
this.storage = storage;

}

/] TvId—rty9d—ldRHEEAR
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2.0\ F—=YaAyt—IY%ETRT S pc-create.html

<|DOCTYPE html>
<html xmlns:th="http://www. thymeleaf.org”>
<head>
<meta charset="UTF-8">
<title>PC NS 7 # — L</title>

<style>
.msg{
color: red;
font-size: 0.8em;
}
</style>
</head>
<body>

<h2>PC fL#ENA 7 # — L5</h2>
<form th:action="@{/pc/create}” method="post” th:object="${pcForm}”>
<table>
<tr>
<td>CPU:</td>
<td>
<input type="text” th:field="*{cpu}”’>
<span th:ierrors="#{cpu}” class="msg”></span>
</td>
</tr>
<tr>
<td>A £ i</td>
<td>
<input type="number” th:field="*{memory}”>
<span th:errors="#{memory}” class="msg”></span>
</td>
</tr>
<tr>
<td>0S:</td>
<td>
<select th:field="*{0s}”>
<option value="Windows”>Windows</option>
<option value="Mac0S”>Mac0S</option>
<option value="Linux”>Linux</option>
</select>
<span th:errors="*%{os}” class="msg”></span>
</td>
</tr>
<tr>
<td>Z b L—Yi</td>
<td>
<input type="checkbox” th:field="*{storage}” value="HDD”>HDD
<input type="checkbox” th:field="*{storage}” value="STA-SSD”>STA SSD
<input type="checkbox” th:field="*{storage}” value="NVMe-SSD”>NVMe SSD
<span th:errors="%{storage}” class="msg”></span>
</td>
</Tr>
</table>
<input type="submit” value="fEm >
</form>
</body>
</html>
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Exercise 40-1 T—49XR—X7 vz 7 bDOERK

REEBLIT

Exercise 40-2 T—9IR—ADRE

RETHABLIY

84



Exercise 40-3 I > 54 714 DIERK

Pc.java

import java.util.List;

import jakarta.persistence.ElementCollection;
import jakarta.persistence.Entity;

import jakarta.persistence.GeneratedValue;
import jakarta.persistence. Id;

@Entity
public class Pc {
@Id
@GeneratedValue
private Long id;
private String cpu;
private Integer memory;
private String os;
@ElementCol lection
private List<String> storage;

public PcO) {}
public Pc(Long id, String cpu, Integer memory, String os, List<String> storage) {
this.id = id;
this.cpu = cpu;
this.memory = memory;
this.os = os;
this.storage = storage;

/] Ty Id—tyd—IldRE AR
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Exercise 40-4 ')KRY M) OERK

PcRepository.java

import org. springframework. data. jpa. repository. JpaRepository;
import jp.kwebs.pcshop.entiry.Pc;

public interface PcRepository extends JpaRepository<Pc, Long> {
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Exercise 40-5 H—EX 7S5 XADERK |

PcService.java

import java.util.List;

import org.springframework. stereotype. Service;
import jakarta. transaction. Transactional;
import jp.kwebs.pcshop.entiry.Pc;

import jp.kwebs. pcshop. form.PcForm;

import jp.kwebs. pcshop. repository.PcRepository;

@Service
public class PcService {

private final PcRepository repo;

public PcService(PcRepository repo) {
this. repo = repo;
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Exercise 40-6 H—EX 7S5 XDERK 2

PcService.java

import java.util.List;

import org.springframework.stereotype. Service;
import jakarta.transaction. Transactional;
import jp. kwebs. pcshop.entiry.Pc;

import jp. kwebs. pcshop. form. PcForm;

import jp. kwebs. pcshop. repository.PcRepository;

@Service
public class PcService {

private final PcRepository repo;

public PcService(PcRepository repo) {
this.repo = repo;

}

public List<Pc> readAl IPcs() {
return repo. findAll();

b

public void createAl IPcs(List<Pc> pcs) {
repo. saveAl | (pcs);

b

public Pc readPcById(Long id) {
return repo. findById(id).orElseThrow();

b

@Transactional

public void createPc(PcForm pcForm) {
Pc pc = new Pc();
toEntity(pc, pcForm);
repo. save(pc);

b

@Transactional

public Pc updatePc(PcForm pcForm) {
Pc pc = readPcById(pcForm.getId());
toEntity(pc, pcForm);
repo. save(pc);
return pc;

b

@Transactional

public void deletePc(Long id) {
repo.deleteById(id);

b

public void toEntity(Pc pc, PcForm pcForm) {
pc. setCpu(pcForm. getCpu());
pc. setMemory(pcForm. getMemory());
pc.setOs(pcForm. get0s());
pc.setStorage(pcForm. getStorage());

}
public PcForm toForm(Pc pc) {

return new PcForm(pc. getId(), pc.getCpu(), pc.getMemory(), pc.getOs(), pc.getStorage());
}
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Exercise 40-7 T— 49— AN

1. Util.java (VY —Z2H 568 >a— KL TLEIW)

package jp. kwebs. pcshop.util;
import java.util.List;
import jp. kwebs. pcshop.entiry.Pc;

public class Util {
public static List<Pc> getPcs() {
var list = List.of(
new Pc(null, ”Core i7", 16, "Windows”, List.of(”HDD”,”STA-SSD")),
new Pc(null, ”Core i5”, 8, "Windows”, List.of(”STA-SSD”)),
new Pc(null, ”"M3”, 4, ”"Mac0S”, List.of(”STA-SSD”)),
new Pc(null, ”Core i9”, 32, "Windows”, List.of(”HDD”, ”STA-SSD”)),
new Pc(null, ”Core i7”, 16, "Windows”, List.of(”HDD”, ”STA-SSD”)),
new Pc(null, "M3”, 8, "Mac0S”, List.of(”STA-SSD”)),
new Pc(null, ”"M3”, 4, ”"Mac0S”, List.of(”HDD”)),
new Pc(null, ”Core i9”, 32, "Windows”, List.of(”HDD”, ”STA-SSD”, “NVMe-SSD”)),
new Pc(null, ”"M2”, 16, "Mac0S”, List.of(”HDD”)),
new Pc(null, ”Core i5”, 8, ”Linux”, List.of(”STA-SSD")),
new Pc(null, ”Core i3”, 4, "Windows”, List.of(”HDD”)),
new Pc(null, ”Core i9”, 32, "Windows”, List.of(”HDD”, ”STA-SSD”)),
new Pc(null, ”Core i7", 16, "Windows”, List.of(”HDD”, ”STA-SSD”)),
new Pc(null, "M2”, 8, ”"Mac0S”, List.of(”STA-SSD”)),
new Pc(null, ”Core i3”, 4, "Windows”, List.of(”STA-SSD”)) );

return list;

2. DatabaselInitializer.java

package jp. kwebs. pcshop.config;

import org. springframework. boot.CommandLineRunner;

import org. springframework. context.annotation.Bean;

import org.springframework. context.annotation.Configuration;
import jp.kwebs. pcshop.service.PcService;

import jp.kwebs.pcshop.util.Util;

@Configuration
public class DatabaseInitializer {

@Bean

CommandLineRunner init(PcService ps) {
CommandLineRunner clr = s—>ps.createAl IPcs(Util.getPcs());
return clr;
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(1) PcController.java

@Control ler
@RequestMapping(”/pc”)
public class PcController {

private final PcService ps;

public PcController(PcService ps) {
this.ps = ps;

@GetMapping(”/list”)

public String listing(Model model) {
var pcs = ps.readAlIPcsQ);

model.addAttribute("pcs”, pcs);
return “pc-1list”;
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pc-list.html

<IDOCTYPE html>
<html xmlns:th="http://www. thymeleaf.org”>

<head>
<title>Book List</title>
</head>
<body>
<hI>PC ') X k</hI>
<table>
<tr>
<th>ID</th>
<th>CPU</th>
<th>A &) —</th>
<th>0S</th>
<th>Z kL —</th>
</tr>

<tr th:each="pc : ${pcs}”>
<td th:text="${pc.id}’>1</td>
<td th:text="${pc.cpu}’>Core i9</td>
<td th:text="${pc.memory}”>1128</td>
<td th:text="${pc.o0s}’>Windows</td>
<td th:itext="${ffstrings. listJoin(pc.storage, ’,’ )}"></td>
<td>
<a thihref="@{/pc/{id}/edit (id=${pc.id}) }">EIE</a>
<a th:href="@{/pc/{id}/delete (id=${pc.id}) }">HIkk</a>
</td>
</tr>
</table>
<a th:href="@{/pc/create}” >R K </a>

</body>
</html>
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(1) (2)

@Control ler
@RequestMapping(”/pc”)
public class PcController {

private final PcService ps;

public PcController(PcService ps) {
this.ps = ps;

@GetMapping(”/list”)

public String listing(Model model) {
var pcs = ps.readAlIPcsQ);

model.addAttribute("pcs”, pcs);
return “pc-1list”;

@GetMapping(”/create”)

public String pcForm(Mode! model) {
model. addAttribute(”pcForm”, new PcForm());
return “pc-create”;

@PostMapping(”/create”)
public String create(@alid PcForm pcForm, BindingResult result) {
if (result.hasErrors()) {
return “pc—create”;
}
ps.createPc(pcForm);
return “redirect:/pc/list”;
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Exercise 41-4 7 7YV —3 a3 >OER

(1)

@Control ler
@RequestMapping(”/pc”)
public class PcController {

private final PcService ps;

public PcController(PcService ps) {
this.ps = ps;
}

@GetMapping(”/list”)
public String listing(Mode!l model) {

var pcs = ps.readAllPcs();
mode|. addAttribute(”pcs”, pcs);
return "pc-list”;

}

@GetMapping(”/create”)

public String pcForm(Model model) {
mode |. addAttribute("pcForm”, new PcForm());
return "pc-create”;

}

@PostMapping(”/create”)
public String create(@Valid PcForm pcForm, BindingResult result) {
if (result.hasErrors()) {
return "pc-create”;
3
ps.createPc(pcForm);
return "redirect:/pc/list”;

}

@GetMapping(”/{id}/edit”)
public String edit(@PathVariable Long id, Model model) {
var pc = ps. readPcById(id);
var pcForm = ps. toForm(pc);
mode|. addAttribute(”"pcForm”, pcForm);
return "pc-edit”;
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(2) pc-edit.html

<IDOCTYPE html>
<html xmlns:th="http://www. thymeleaf.org”>
<head>
<meta charset="UTF-8">
<title>PC NS 7 # — L</title>
<style>
.msg{
color: red;
font-size: 0.8em;

}
</style>
</head>
<body>
<h2>PC fX#k AN A 7 # — &L6</h2>
<form method="post” th:object="${pcForm}”>
<table>
<tr>
<td>CPU:</td>
<td>
<input type="text” th:field="*{cpu}”’>
<span th:errors="%{cpu}” class="msg”></span>
</td>
</tr>
<tr>
<td>A £ i</td>
<td>
<input type="number” th:field="*{memory}”>
<span th:errors="%{memory}” class="msg”></span>
</td>
</tr>
<tr>
<td>0S:</td>
<td>
<select th:field="*{0s}”>
<option value="">i#&R L T < =¥\ </option>
<option value="Windows”>Windows</option>
<option value="Mac0S”>Mac0S</option>
<option value="Linux”>Linux</option>
</select>
<span th:errors="*{os}” class="msg”></span>
</td>
</tr>
<tr>
<td>R b L—Yi</td>
<td>
<input type="checkbox” th:field="*{storage}” value="HDD”>HDD
<input type="checkbox” th:field="*{storage}” value="STA-SSD”>STA SSD
<input type="checkbox” th:field="*{storage}” value="NVMe-SSD”>NVMe SSD
<span th:errors="*{storage}” class="msg”></span>
</td>
</tr>
</table>
<input type="submit” value=" 7>
</form>
</body>
</html>
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update X Vv I

@Control ler
@RequestMapping(”/pc”)
public class PcController {

private final PcService ps;

public PcController(PcService ps) {
this.ps = ps;
}

@GetMapping(”/list”)
public String listing(Mode!l model) {

var pcs = ps.readAllPcs();
mode|. addAttribute(”pcs”, pcs);
return "pc-list”;

}

@GetMapping(”/create”)

public String pcForm(Model model) {
mode |. addAttribute("pcForm”, new PcForm());
return "pc-create”;

}

@PostMapping(”/create”)
public String create(@Valid PcForm pcForm, BindingResult result) {
if (result.hasErrors()) {
return "pc-create”;
3
ps.createPc(pcForm);
return "redirect:/pc/list”;

}

@GetMapping(”/{id}/edit”)
public String edit(@PathVariable Long id, Model model) {
var pc = ps. readPcById(id);
var pcForm = ps. toForm(pc);
mode | . addAttribute(”"pcForm”, pcForm);
return "pc-edit”;

}

@PostMapping(”/edit”)
public String update(@Valid PcForm pcForm, BindingResult result) {
if (result.hasErrors()) {
return "pc-edit”;
}
ps. updatePc(pcForm);
return "redirect:/pc/list”;
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delete XV v K

@Control ler
@RequestMapping(”/pc”)
public class PcController {

private final PcService ps;

public PcController(PcService ps) {
this.ps = ps;
}

@GetMapping(”/list”)
public String listing(Mode!l model) {

var pcs = ps.readAllPcs();
mode|. addAttribute(”pcs”, pcs);
return "pc-list”;
b
@GetMapping(”/create”)
public String pcForm(Model model) {
mode |. addAttribute("pcForm”, new PcForm());
return "pc-create”;
b
@PostMapping(”/create”)
public String create(@Valid PcForm pcForm, BindingResult result) {
if (result.hasErrors()) {
return "pc-create”;
3
ps.createPc(pcForm);
return "redirect:/pc/list”;
b
@GetMapping(”/{id}/edit”)
public String edit(@PathVariable Long id, Model model) {
var pc = ps. readPcById(id);
var pcForm = ps. toForm(pc);
mode | . addAttribute(”"pcForm”, pcForm);
return "pc-edit”;
b
@PostMapping(”/edit”)
public String update(@Valid PcForm pcForm, BindingResult result) {
if (result.hasErrors()) {
return "pc-edit”;
3
ps. updatePc(pcForm);
return "redirect:/pc/list”;

}

@GetMapping(”/{id}/delete”)

public String delete(@PathVariable Long id) {
ps.deletePc(id);
return "redirect:/pc/list”;
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